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from sklearn. datasets import load breast cancer
bc = load breast cancer()
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L2220 W53 F 3 BEEFBR DL exp (wox) » WG
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M
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X LEHBAEEN Y, PURARBER, o] LIS X %04 (XL YY) BECE A i
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H(p)=— >, px)P(y | x)logP(y | x) (2-32)
(x.y)eD
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INFEA B A (8 AR AE SR £ (s ) SIBURRAE L SR IS A SRR AE BRBL f (x o y) TR A 40 A
P (x sy B A6 FARE bR AL £ (s y) KT p (y [x) AR G500 p O I,

FRERBOC T RIS 7310 p (x5 ) BIIHIERE U
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E, ()= 2> pply [ x)f(x.y) (2-34)
(x,y)€eD

HIZE p(x,y)=p () p(yIx) FE p(xsy)=p(x)p(ylx) RN, B KM 1 ) 24
WA AR AN R B RRE SR AL f (x o) Tl Al T p Gy [x) IS BOR 6 2 3 74 E ]
F I e RO A TR (1) 2% 2] i B 0T ARG AR S — A S A ) 8ok ik . B e/ e T

I 2 R K
_fl'(xsy)’ i:1’2,'°'sM (2’35)
ij& Vi E@}%ﬁmﬁ%ﬂyﬁcz{cl9fz 7"'9CK}E/‘J%{£F‘F’;R%
max H(p)=— > px)py | ©logp(y | x)
(x.y)€D
st E (f)=E,(f) (2-36)
D2y x =1
yel
W 1% 35 KA ) BB AL Ay J /AR 9] BERD min— H Cp) 1 FHAAS B H 3 735 ok . PiAs
Wi H eRECH

M
Lag(p.w)=—H(p) +aw,(1— D py | x))+ 2 (E,(f)—E_(f)) (23D
Ji

yel
Ho =(v,,0,, -uwM)jﬂE,z'l/\E’Jh*%Eﬁ HaET. kAt Lag(p o ) ATSRAS

M
po (v | x)= exp 2 fix.y)) (2-38)

V4

@
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5

M
Z, )= rexp(Dlw,f,(x.y)) (2-39)
=1

2.3.2 HARFEEGZEEPZENXE

SRS ABBERFE PR M S T REAR I AR B DN B B =M, LA 5320
IR 8] s RE AN R A e, Ak R R AR B — A 1 (L
x, y=1

filxay)=1{" (2-40)
0 y =0

)

M
Z, (x) = Eexp(Ewif'i(xyy))

yecl i=1

M M
:exp(Zwifi(x,y:O))—O—exp(zwifi(x,y:l))
i=1 i=1

=1+ explw x) (2-41)
HE%%»JJ:[:%(U :(wl s Wy ,"'awM%Z:@,/E‘i\ w
1
P(y =0 | x) = T
1+ew x
T, (2-42)
py=1]x)=—"
1+ew X

A LA 3 | 1 I fie RO A AL S AN T 0 2808 B8 ] AR A
X“J‘ﬂ:g%%rﬂ%ﬂ’mﬁi f,- (x Y T Cy ):/\i}zxi a’jI\IJ

1 M 1 afx
Po (v =c, | x)—mexp<§w[fi(x,y))—zm ¢ (2-43)
/\rh
M K M .
JZ'" (x):Eexp(Zwifi(x,y)):Zexp(Zwikikx[)ZEea”
{ yeC i=1 k=1 i=1 k=1 (2-44)

[a: :(wlA]k ’C()2A2k 5"'7G)MAM/€ )T
K (2-43) H(2-20) F L BB Fe KRR 260 T 2 0 JEB B 01 A . e RO A8 28 ] LA
Ao DL T B R TR AR ST L AR AT

2.4 1FMNIERR
$fFF— A5 FEE LI ZRiF 2 AR, A8 4, W] P Ak £2 455 580 A k36 1

LRG R B —A> X B LR B DAY [RDRE . 42 R A 4 — S8 3 T A9 KL T O
CIECRI®
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2.4.1 BBEMKE

TRV R I 2 PR R 2 B0 4 1 Sl X B — A R SR MR i BETR VB AR M 2T 4
m# 2-1 .

Fx2-1 BEERETRER

moow A
HLSH
0 1
0 True Negative(TN) False Positive(FP)
False Negative(FN) True Positive('TP)

AR TR VA R A 5 DO AR 4 1A L

(1) HBAZ(True Negative, TN) 3B SR 2 571 A A 15000 5 571 HEAS B9 RE A B

(2) R FH# (False Positive, FP) 3R W] 52 FR i 5 A< F0I0 5 E AR A B FEAS K

(3) BB (False Negative, FN) 3 B SZBR J& 1EFE A T A% S AR A AR AS 50,

(4) EHZ (True Positive, TP) 3 W] 5Z PR F A F000 B EFEAS R A R,

XFHRIRVE MM IR A D S AE L X R M S HE R, HREAMAZ . WRAE S EiICH &,
A L) Fi BB TS 43 R PR A3 A0 1 - R R 43 & True/False R Bk, RIACFR2E F000 Y
WERTE; 5 A5 J& Positive/Negative 2678 1IE 1 BEAS, BIAC R E T A9 45 5, BT L IRV
T AT R M PE— B 5 RS . BIAEFRE RIS ER 4 RS

(1) TN, I A AFEAS S XS T,

(6) FP, Hiill 2 IEAEA, B4 T .

(7) FNL SR A REAS AT T .

(8) TP, T & IEFEAS, T XS T,

AR PE A 36 b #0257 76 TR VA 4B PR SE Al 0, B0 S MR A OR RS iR L 4 [BR (F1-
score, ARt ALFE AUC,

2.4.2 HEWE

T 2 B LB — TR B L BTN A 0 45 SR oS SR AR I A b, AU

TP+ TN
A = 2-4
ccuracy TP L TN L FP L FN (2-45)

SR ORGSR AT LU T A 1 TR R AR AERE A AN 115 BT L I AN BEAE DI AR 4 1 5 A
KM REAER  BORTERT A FEAR P IEREA & 9020 AREA &7 1006 FEAJE ™ B AT Y . B
TH 2 TOREAS T DAy TE R AR BV AT A5 21 90 D0 1Ry g A 3 A SR ARG T B SRR B — R AR AT
P AR AT AR S 7 SR ARAR R Sy . I P ARt BT AR T AR P AR AR AR
R B A A [ R

2.4.3 FBHWHESZMEE
05 50 2 (Precision) UM 25 W2, B 2 A1 X T 45 S0 11 25 10 KS 0 2R 2 7 16 0T A9 % L
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N IEBIREAS R SEBR O IE B REAS BOME R . R LR A U N IERE AR R S5 R R A 2 e R ]
PAFIEI SE 8, FEA A F

TP
Precision :m (2*46)

4 113 (RecalD) UM A5 4 3 B R0 R AS T 35 B9 . 74 0] SRR R 72 LB o IE B AR A
BT S TERE A B AR LA SR

Recall = TP

TP+ FN
7 1] A — e ] T R e R TR E A I 5 . 0 A A B I 24 A EO ep, A EE AR R AF
AT AT SO Al BE 2 R AR TR YR P o i 2R TR 5 22 M0RE Al BE & 2R 55 20 19 P 24
FOE R R ST RE 2 AR ) T 2 < 2 G O B T A 1 A TR UL e T T
FAE . A Il AR B P i i o A R A

(2-47)

2.4.4 PR #% o e
O A RE A SR L B — B A 0.7

BE L E B AL B BLSE A, _ o)

R IR 035 B 26 K T R o A g el 2

B R B R KRR A £

T S T B, 7 B 73 [ 35 e 5 T 0 2 2 1« T

(2 05 1 N, I R AR B T S 749 L 0.5]

LA ] SR  TOAS 0 3 v 0 02 04 06 08 10
PR 28 3 LIRS B 2 G0 A A, DL T 2 Recll

o s A A B 2 L T 2-2 R 22 PREZTEHE

2.4.5 ROC HMiZ&5 AUC %

X FHAS T 2o AR UL L iy 4 SR AR AE (0 MRS 1) A A O T A R D R E B B
fEREE B, s WA B S 2 0. 5. KT 0.5 BWIA N BIEREAR . /NT 0.5 N & ke
AR o SRR I A B, TN R 5 CER 6T I R AR TR B AR 000 O A A R O A AR, T
[F] ) 114 AE %6 3R 2 A AU I i 22 1T R 19 00 2 0000 1 A 1 AR 30 A B A0 5 o SR 0/ 3 A 9, TS
2 T I B AR R 2 T v LI () s A R A M R A 2 T iR SRR b K [ A 3k B —
FERREE DR T A 2848 1 5r 2508 00 . FRATT MR A B L IR 1R B KW B A , 43 S #1 A S vl fig
HIEH . A T IE G M X A4y 25 68 1 . ROC #IZR HEAT 7 R AE A 2-3 I . — 4% ROC
HEP

Bl . B FH R (False Positive Rate, FPR)

FP

Wil . B FH3R (True Positive Rate, TPR)

TP

TPR =15 T EN

(2-49)
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WAL ROC MBI AL AR AR AEL0, 1IZ L HAA KT 1. BAE T LA ROC 4k
OEST 7R RPN R S I /-8R oy TN

(0, 0): IRBHFFELBHZREL N 0, B 2025 28 4 30 WO A fA REAS

(0, D BBHZR 0, HBHE Ry 1, 49058 36 H 6 .

(1, 0): fRFHSN 1, B IHAy 0, 4 %858 2 T A5 1% .

(1. 1) BB FE B ARE N 1, B2 2528 430 W00 B 1E BEAS .

24 TPR=FPR i — 5 REXS M L if R B0 N IEAE A I 45 R — L 2 Xy, — B B H Y.
R BEAL AT AR . ROC #h 27 BEXT M 26 DL, 8 1% 40 ZE 48 80U 22 TR AL 4y 2%
s 2RI TR 2585 . 2R A4 2 ROC &R it TR M DL L b 2
mZE O, DY,

]
o
x —
o
2
%
o
[=™
) 04F 4
0.2 Algorithm | —— |
Algorithm 2 weeeee
U 1 1 1 1
02 04 06 08 10

False Positive Rate

2-3 ROC & REE

2.5 6. ETiZ4E 03 5C 3 2 BRRE

AR T FU R B B A 48 22 B 0 A A P AR R A R S I R AT A 2-1 R
REGFEH2-1 EBEEEARBPHIES %

from sklearn. datasets import load_breast cancer

from sklearn. linear model import LogisticRegression

from sklearn. model selection import train test split

cancer = load breast cancer()

X train, X test, y train, y test = train test split(
cancer. data, cancer. target, test size=0.2)

model = LogisticRegression()

model. fit(X_train, y train)

train score = model. score(X train, y train)

test score= model.score(X test, y test)

print( 'train score: {train score:.6f}; test score: {test score:.6f}'. format(

train_score = train_score, test score = test score))
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AR A iy g i ST AR I 2R A L i E R IK F) 0. 969, 7T AR B AY kB R A F

0.921, AT iH—

Ao AR AOR AU W B 2-2 9E— 2B AT Al T R A I A b B v A R

B FAERR, =&F0935F T 0.921.0.960.,0. 923,

from sklearn.
from sklearn.

from sklearn

from sklearn.

KIBFR 22 HEIFH

metrics import recall_score

metrics import precision score

.metrics import classification report

metrics import accuracy score

y_pred= model.predict(X_test)

accuracy_score_value = accuracy_score(y_test, y pred)

recall score value= recall score(y test, y pred)

precision score value= precision score(y test, y pred)

classification report value = classification report(y test, y pred)

print ("HERfZ ", accuracy score value)
print(" [E%:", recall score value)
print("5Hf# :", precision score value)

print(classification report value)
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CHAPTER 3

k-IL 4B 51 (k-Nearest Neighbor, KNN)J&— v I 19 73 28 s W9 500, 4458 — Al
GREARLES D LA — A5 ZE AT B A REAR o 30 4857 35 1 SE AR AR (AT 800 %) 143 24 1)
S S AR S T VN R AR A R BN o BOI I b A REAS SR T e 5 520k e X ke
A T BB 22 B2 A D o B TN 25 58 5 ok I U i L - T AT A 7 R RE R B
o IRATHY k ADREA RIG R b DA B PREE KT B R F) o TINEE R . e-IE AR TA
RN 3-1 Fiom .

Hik 31 k-ESBEZE

BN NS D =0y ) Gopnyy) e Gy oy, ) b s b AH RFBUINREAS 25 WSUE &-
AR IY A R 25 A C = {cp ey ey )

Bt FEA o TR Y S B

1. 158 = 5FAISGES A RARZ R, I NBIKHET & B AR R
P =argsort{d(x,x;) | i =1,2,..,m}
2. Xt T4yl A, B EE Pk AT £ D RRAS A B i 2 1 2R

Return y = arg max El(xp =c;)
i=1,2,. K Sep

3. T ml U [, T & SRR A KR 2 BB EAE D « Bl T

1
Return y = ?Eyp
pE P

Xb k- AR BB ST AL 5 =T s R R R T8I B R A R R R A AT RO AT & A
I RBAIRE R

3.1 k {EHJIZEX

P 5k 0 o D0 R B e DA 22 B BT LY R (HARV/INI L A B A SR R B R e 25 . R
TSR P L B AR o, R k=1 B A AR TETR . RO ARSI TP R & B T
24 2R U I R v 5 R R el IR RE AR D

AR R AR U, DU AT B 2 i DRI Al 288 ) A AR AR 0 5 R A, B i R L T
SR BT REAS T A 5 2 Ok TR R R T RE 23 3 B B R . — MBS A0 R L T A B
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E AR b 2R R Y & (R PRt i) & {H.

3.2 BEERES

Xt 3 AR L — A FE R PG B B R AT B R 6T B AR L AT LA A
B S Ak SR 5 P00 G B s AT R

ik A (Word Embedding) /& H $K1E 5 Ab B4 40 38 % I #9 — Fp X 2038 3517 g 15 59 77 X
TRl T e B RO i UEAT M Cone-hot) i A L (B 64 5 AN FTRN(ALBLCLDLE} L X A
i 3k 4 A% N (1,0,0,0,0) " B B B 4 5 4 (0, 1,0, 0,00 H b BAGRZKARL. 4 £ ) 1O R
1) FHHE R

A B C D E
1 0 0 0 O
01 0 0 O
X=|0 0 1 0 O (3-D
0 0 0 1 O
0 0 0 0 1

BEDLWI I Ak — > F TRl AR AL BB M, o Hoh 4 — > d SRR 1) B 3R om — 4> Bd] . 3]
A Y53 AR PR R A
A B C D E

E :MdXSX = ‘ . . .\ “./ . (3-2)

Lar Taz Taz Tas Tygs
FEFE E P — S AR SR 1 I A RN L d RS R M T DL i R B 2 ) 4%
CULES 11 30 f8 HA AT 55 b b A2~ 22 )5 ik e FH B 1) ) i A5 Y 1] 42 38 7 31 5 R T L
B BT Z AR ARADUEE o XoF T — B Y A R A T LR S ABLIRL ik A B9 5 ik R AT

.
3.3 REWER

HINGRAE A B RUBLAR I A o] PRz £ B RE A = 19 & A>3 48 B R TS HILSE B & -1 48 5
B, — MR AR .

(D FFHAR = SIIGRESPrateAR e,

(2) R X 26 AR 3 B /N B R BE AT HE PP B R AT £ A

SR R I 18] 52 2% B2 2 VT S B 2R A v i A A A B 8 ) F ) L HE P A I 8], 3208k Y
55 (2) 28 ] DLFTRCHS 2540 v B £ 4R 7 51 R & A di /N RO SR 0 A T AS i X i A B AT
PEATHERE o — A S AT O i R M VIR RE AR SRS el S R 5 DA TS A AR . ked 2
— ol R AR R s TRD RSN B R A0 (AL Y & 8 2 BOLERE R/, 5 k-1 AR R Y &
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BAEMER) .

A kd W E

9 R R

T AR B AT AR L XA L RE A KR

FEAR AR 2R & A3 28 Y I i) yfF%rJzEé’lel,}%%E’J#ﬂiﬁmﬁ?ﬁﬂi%?ﬁéﬁﬂt KT kd WY

FEAN A 44 A 2 %5 3RS .

3.4 LB BEF k-1

IEEEXUSER SR

AT LA R AE (Tris) BOHE 4 09 70 2ok EDWLBR AR k- 485005 . O 11 4P JER SR
AEHCHE A 33k TR T A6 250 9 38 A0 A6 A 9 32 T A R A ik

AT Al AL, Ik 3-1 B .

2.5k ° °
L L] L
L] aee @
e 20 0 by
2.0+ ® e & @ .
e oo
* oeBBed
L] ®
° e o0
1.5¢ [ ] L] see88e
ecocmoe
e o _o8ne
eee @
en
1.0 @ eee oo
L]
- L]
0.5 L] LR N L]
L] L [ N ] [ ]
escReROROe O _ @
0 e ® °
20 2.5 3.0 35 4.0 4.5
B 31 BEZBEEAER

& v 5 6508 S R Setosa, B O EHE S F /R Versicolour, £f (05048 & /R Virginica,
sklearn WAL £-JT 4R A AU FR “ KNeighborsClassifier, fCAS 7 B 3-1 25 H T A5 B0 44 3 A0
U EZ NS

KBFEL 31 k-EBERHHIESIS
from sklearn. datasets import load iris
from sklearn. model selection import train test split
from sklearn. neighbors import KNeighborsClassifier as KNN
if

iris = load iris()

name == ' main_ _':

x_train, x test, y train, y test = train test split(
iris.datal[:, [1,3]], iris.target)

KNN( )

model. fit(x train, y train)

model

fRASHE PR 3-2 X EaR B R R AT Tk, R IR P
R F] 0. 964, MR FAYHERMRIEF] 0. 947,

RugiER 32

B AT LU R B AE I 2R AR L B

B

train score = model. score(x train, y train)
test score= model.score(x_ test, y test)
print("train score:", train score)

print("test score:", test score)



